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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ren of the following: 2x10=20
& I PG oTaE TeR Wie ¢

(a) What are the indicators of HDI?
HDI-43 s & Jie

(b) What is Head-count Ratio?
Head-count Sl I&e I @I 2

(¢) What is Balanced Growth?
N TAE IS @R ?

(d) What is HPI?
HPI #1e F @mi?

(e) What do you mean by Net National Income and Per Capita Income?
% T W ¢ Mg W wie B @I

(f) Write down the definition of Sustainable Development.
Sustainable Development-93 &1 (&0 |

(g) What is Lorenz Curve?
Lorenz (@41 2

(h) What do you mean by ‘Labour Intensive Technique’?
oW e egfe sere F @i

(i) Write down two main objectives of UNDP.
UNDP-3 46 2w Sral) (=1eil |

(j) What are the obstacles to Economic Development?
Gftafes S oY A [ A2

(k) What is Vicious Circle of Poverty?
v 18 5F 2

(I) What is Big Push Theory?
(@R 4@ ©g 2
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(m) What do you mean by Gini Coefficient?
Gini Coefficient 3770 F (iTan?

(n) Write two efforts for reducing Gender Inequality.
for Cam g 7A@ ufd AW T

(0) Distinguish between foreign aid and foreign investment.
Foreign aid 932 foreign investment-93 &y #{14% 1|

2. Answer any four of the following: 5x4=20
@ I 51 AR TER WG 2
(a) Write down the difference between economic development and economic growth.
wtafos Tmm ¢ WA Rz s @t
(b) Write a short note on A. G. Frank’s dependency theory.
A. G. Frank-93 dependency STG3 57 @3l Biwl el |

(c) Mention two basic elements of Economic Planning. Write briefly the arguments in favour
of Development Planning. 1+4=5

WAl s o 3o Soimm Sra Tt | Trmm s oivE el At @
(d) What is Balanced Growth? Write arguments in favour of Balanced Growth. 1+4=5
AW e I AE? /A e «vF e @i
(e) Write the components Gender-based Development Index. Show that Gender Inequality
works as an obstacle to Economic development. 1+4=5

frmfefes Saamyee 7o Sammefa @l e @ fem (aaw wdtafes Saama o
G AN R G A |

() What is Kuznets’ Hypothesis? Explain the connection between Income Inequality and
Economic Development with a diagram. 1+4=5

Kuznet-97 238 3?2 S 395 ¢ udtafos Safoq 7> @braa Tgm i 3@ |

3. Answer any mwo of the following questions: 10x2=20
A @ @ 45 oAva TEI e ¢
(a) Explain briefly various measures of poverty.
vifame! s (feq omfocf srwe witem Fa
(b) What are the main roles and function of IMF?
IMF-97 17 Sfi ¢ arfaeelela 3 e
(¢c) Explain the role of FDI in Economic Development.
w{tnfes Saae FDI-A gt SeEms+1 Sl |
(d) What do you mean by Economic Development? Show arguments in favour and against
of Per Capita Income as an indicator of Economic Development. 2+8=10
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